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Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of sixty (60) multiple-choice type of questions,

out of which the candidate would be required to answer any

fifty (50) questions. In the event of the candidate attempting
more than fifty questions, the first fifty questions attempted
by the candidate would be evaluated.

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

[¢)) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(1i1) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO,

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Paper 1
gyurent I
100

This Paper contains Sixty (60) multiple choice questions, each question

Time Allowed : 75 Minutes]
Note : (1)

[Maximum Marks :

carrying Two (2) marks.
(2) Attempt any Fifty (50) questions.
Gor : (1) A RAUGRhd |6 (60) gae Tvd foel oTgd Uoie WeAen | (2) 9
3TTed.
(2) HIUAEN TG (50) TR SW T

Which of the following is the correct

] ) ‘ ,

full form of CBFC in the context of | & RO [Aer=Al HEHid Hsieme ' =1

Indian films ? I AR faEr w2

A) Central B d f Fil .~ oo

(&) Cgﬁzifgsation oare o nm (A) ¥=a e % fhen Fifhenem

(B) Censor Board of Film Content (B) A= a1 % fheq s

(C) Central Board for Film . e . 5
Censorship (C) ¥=a are &R fhew TERRM™

(D) Central Board for Film (D) T=d e ®R hed Fanfaitheny™
Classification =

In the context of journalism, what | 2-  JUTAEA HEHIq ‘US-3 SIq=’ 21 T

is meant by ‘Page 3’ news ?

(A) Hard news about politics,
society etc. published on Page
No. 3 of a newspaper

(B) Soft stories on social and
personal lives of celebrities and
stars

(C) News about rape, murder and
other crimes published on Page
No. 3 of a newspaper

(D) Investigative and analytical

ek wmE ?

(A) TSTHRY a1 GHTSTESE 2 o
SEATh Sl STaEl ST XAl
m:":ﬂ YA 194l Stldld.

(B) gotaifera =meit (Qfafset) o1 ar-
AeRT=T] grasiideh o1 dgfadsh
SMEATIN FEfad g, (89S
IRl

(C) SR, ©F 91 3T TR Toeh

S ST AT =1 IR
SAAT STl

news about corruption (D) wserEREi Hafeq e a1
published on Page No. 3 of a ERGEIR A R R W SRR 2]
newspaper fTa== MR SO STdrd

[P.T.O.



In the context of computer
generated (typed) text, identify the
odd non-verbal clue from the
following :

(A) bold
(B) emoticon
(C) italic
(D) underline

From the perspective of the
advertiser, what is the ultimate
criteria of success of advertisement
as communication ?

(A) The ad is remembered by a
large general public

(B) The ad 1is accepted and
internalized by the target group

(C) The ad is aesthetically liked by
a large general public

(D) The ad is discussed by the
target group

A teacher who considers ‘Knowledge’
as existing primarily in the students’
ability to interpret, generally tend
to emphasize more on :

(A) Powerful lecturing
(B) Transmitting information
(C) Presentation

(D) Discussion and negotiations

JAN - 00118/I—C

qrekTgR fafem (Sfwa) ARt
vl qeid M3 fas Femda avte
U< SMedEl

(A) 3ok (dies)

(B) wEta= (gHIfehM)

(C) TU S1&R (Efeieh)

(D) TERfEd (3TeTeE)

SfedeRr=a gfteshA Sfedd Th
YA AT oA gaiea e
HIOTAT ?

(A) Wi FEHTER SR & STl

SRRl

(B) @8 oM T Sfeda TehRel o
ATHAT el

(C) WIS FAHETHRYT SR o S
HiedeTeagse sasa
(D) & T 1 SHfeddier == shait

‘IM T gExa fammeat=ar sty
FHTEUTATAT &THdd Ted 3T9d ' 19
AHUR f31e7eh qeiaieh! HIMeR SR ¥R
Qe ?

(A) GHEl FRAM TR
(B) wfedt TUfSa hivamer
(C) TRLeIumeR

(D) == & A FTHRR




Denis McQuail defines communi-
cation as ‘a process which increases
commonality — but also requires
elements of commonality for it to
occur at all.’” Which of the following
cannot be a logical, reasonable
inference of this definition ?

(A) Communication depends on
culture located at various levels

(B) Sender is more important for

the process of communication

(C) Communication introduces a
change in sender and receiver

(D) Communication creates a

shared symbolic environment

Let fbe a mapping from X = {1, 2,
R R , 50} to itself such that for
m, n € X, m < n implies that
fAm) < fln). Then which of the

following is true ?

(A) There is m € X such that

fm) = m

(B) For every m € X, we may have
fm=m-1

(C) For every m e X, we may have
fm=m+1

(D) For every even m e X, we must

have fm) = Em
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SHE Heood HSTIATE! ST JEAyHTl
FHIAM — "HATT B U SR

AN A NN o C ~
.:L:I'I‘?-Ta' JOITATAULT THTOTA 37307 AT o= aur
LRI C L ANCE AN B b O B D gt AN B DY SR TR AN L A D e g P

(A) G ¢ fafay ardesaericl T&hdian
YR 3T

(B) T Yo @1 31feren HeverE
T

(C) FAes ek a Tmeeh (RfFeel)

WM SIS dgdd TSal

(D) 9 Teh G famgiferd STer

[REIMECAG]

fediedn £91 TR T fohdl TwE 3
T X =11, 2,38, ... , 50} T T
HES SN A &I, Sk m, n € X,
m< n 3¥A R Lm) < Ln). TEAUHT
FIv foeE W& R o e ?

(A) THald m € X A9 31Tdl i

fm) = m

B) 9k me XTE fm) =m -1
3 reRdl

(C) Y% me X H3 fm) = m + 1
3 YTkl

D) I¥F FHEEIT m e X 9IIat

Km):%mam?ﬂaw%ﬁ

[P.T.O.



A substitution takes a ‘word’ written
in the letters X and Y and gives a
new word by replacing each (old) X
with a Y, and each (old) Y with XY.
For instance, it converts YXY to
XYYXY. Starting with the 1-letter
word w, = X, we get new words
wy =Y, wy = XY, wg = YXY and so
on with each w, . ; obtained from
w,, by applying the substitution. If
(/, m) is the pair with / = number
of X in wyy and m = number of Y
in wy. Then ([, m) = ........... .

(A) (21, 34)
(B) (34, 34)
(C) (34, 21)
(D) (55, 34)

In a group of people, every engineer
is a teacher, no politician is a
teacher, every lady teacher is an
Then which of the

following statements is not true for

engineer.

the group ?
(A) There is a lady politician who

is an engineer
(B) No lady engineer is a politician

(C) There is no male engineer who
is also a politician

(D) Every politician is an engineer

JAN - 00118/I—C
X 301 Y A1 A& A eI
T es, (S X =1 st Y oo
9 (S Y TSt XY S dIR shell
STl 3areeoned YXY 9gd XYYXY
fHedal. S gEardd THAsd I
wy = X 3T8c, T el AT,
w1 =Y, wy =XY, wy = YXY 9iR fhe.
w, . 1 8 w, A foee e
TR el Sl ST/ = wy HHE X
= e 9 m = wy Wl Y = "
IEA W (L, m) = v, :

(A) (21, 34)

(B) (34, 34)
(C) (34, 21)
D) (55, 34)

TH T TEME, YAk IR @
forerer 2TR, VTSl TSRO &1 fReren
TE T Yk iR € I eTR.
I THEEeYd YEadshl i faem
A | ?

(A) T TSTHROT St & AR omg
(B) Il S ST TTehon et

(C) SHIVATE Geo ATTFAT BT TSTehRo

A

(D) Yk TSTRIOT BT AT T8

6



10. Female rabbits are either juvenile

11.

12.

or adult. Each month, each juvenile
grows to adulthood and each adult
female gives birth (on average) to
one juvenile female. Starting with
one juvenile female rabbit, how
many female rabbits will there be
after 10 months ?

A) 71
B) 79
(C) 81
D) 89
1
fx=Lxn=1+5,x3=1+75
1 1 1
+2—2, ....... ,Xn—1+§+2_2+ .......
+ gn 1> then which of the following

statements is true ?

(A) 2 <x,<3, for n>10
(B) x, <18 for every n
(C) x, = 2 for some n

(D) x,, < 2 for every n

The number of positive divisors of
8000 is :

(A) 25
(B) 26
(C) 28
(D) 18
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10. HET 991 ThdX Ui 30a fahar arevam

11.

12.

3T 379 THS]. T AieAa aev 941 Uie
A 9 (TEL) T Uie 76T T TH
HIET T S <d. SR el Teh a8

TS T A R 10 A= 76T =t

T ot ?

(A) 71

(B) 79

(C) 81

(D) 89

WX1=1,X2=1+§,X3=1+§
1 1 1

+2—2, ....... ,XH—1+§+_2+ .......
1 AN A NN

+ =1 > T GEITHH] I [ECIER: ]

e ?

(A) 2 < x, < 3, T4l n > 10 ¥l
(B) x, < 1.8, Y% n WSl
(C) x, = 2, THIG n A
D) x, < 2, T&% n HAl

8000 a1 HEHH N SVl THU &
&

(A) 25
(B) 26
(C) 28
(D) 18

A

[P.T.O.



13.

14.

15.

Which of the following will complete

the series ?
17, 23, 37, 53, ........ .
(A) 61
(B) 59
(C) 73
D) 71

Which of the following will complete

the series ?
EG, IK, NP, .......... , AC
(A) RT
(B) TV
(C) SU
(D) SV

In a code language the word
‘CHENATI is coded as 49615210,
then what is the code for the word
‘SANGLI’ ?

(A) 2021581310
(B) 202147129
(C) 201158139

(D) 202148128

13.

14.

15.

JAN - 00118/I—C
qEIedeh] hivTdl TAE SOl gl e ?

17, 23, 37, 53, ........ .
(A) 61
(B) 59
(C) 73

D) 71

qicTdehl IVl T S0 g0 hid ?
EG, IK, NP, .......... , AC

(A) RT

(B) TV

(C) SU

(D) SV

THT gishfas 4rid ‘CHENAD &

[N o

49615210 315 3141 foAfean, T M= 9|

OO

‘SANGLYI @ v &9 fafgdar Iga 2

(A) 2021581310
(B) 202147129
(C) 201158139

(D) 202148128
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16. Which of the following shows the

16. el HIV Tl DI, hHeISe]

correct relationship among players,
Kabaddi players and Football

players ?

(A)

.(0)0

()

(D)

Wealg AT feala Tedlg AAETA A

q FaY SEfad ?

(A)

.(0)0

(®)

(D)

[P.T.O.



17.

18.

If Football is lighter than Tennis-
ball and Basketball is heavier than
Tennisball, but lighter than hand-
ball, then which is the correct
ascending order of balls in terms of
weight ?

(A) Football, Tennisball, Basket-
ball, Handball

Basketball, Handball, Tennis-
ball, Football

Football, Tennisball, Handball,
Basketball

Tennisball, Football, Basket-
ball, Handball

(B)

(®)

(D)

Based on the following statements
which of the following conclusion(s)
given below follow(s) ?

Statement A : All animals are
intelligent and all intelligent things
are human beings.

Statement B : Some children are
innocent.

Conclusion I : Some animals are
human beings.

Conclusion II : Some children are
not innocent.

(A) Only I

(B) Only II

(C) Both I and II
(D) Neither I nor II

17.

18.

JAN - 00118/I—C
S el S TEsierian geteht 3T Sl
TEhdie Eeiaue SE IR, W

EeaeTIET BeTeh 3. TR SSHITHR Sl

HTedl HH H9 A ?

(A) Hesa, Fata, sRehedld, geaid

(B) dRehesiiel, gaiial, g, Hesid

(C) hedrd, fyaiel, T<afe, IRehesiia]

(D) 2fweiel, Healel, dRehesiial, gesiicl

Tera fagm=n ER Soa(dq) e
frerd/ ferar ?

faermT 31 : 9d wroft Jfgam smed smfor
w4 gfgad e dME 3TRd.

faam & : wE g fou TR
fewel 1 : @I 9O AEE STTRa
frswl 11 : @t g Foa TR
(A) w1

(B) e II

(C) 1 amfor I 3wt

D) 19 II = =

10



19. The following table presents the

number of families in a village
earning a certain level of monthly
income from their factory job in the

nearby town :

Number of Income band

Families (in Rupees)
42 5,000—9,999
40 10,000—14,999
36 15,000—19,999
18 20,000—24,999
5 25,000—30,000

Which of the following statements

are correct ?

() Approximately 54% of the
families earn between
Rs. 10,000 and Rs. 20,000.

(i) There are 70% families who
earn more than Rs. 10,000.

(iz1) A family with highest income
earns Rs. 29,500.

Median income is between
Rs. 10,000 and Rs. 14,999.

(A) (3, () and (if)
(B) (i), (ii7) and (iv)
(C) (1), (i) and (iv)
D) (1), (D) and (iv)

(1v)

JAN - 00118/I—C

19. @ TRAT ST STl ShREITeR

AT STHUIT Tehl Wedrid fafay

3T e hedrdl e el TR

At 3 TE
e (FTEATEE)
42 5,000—9,999
40 10,000—14,999
36 15,000—19,999
18 20,000—24,999
5 25,000—30,000

g0 Hifgdia®d ©TelaTdshl 1o

faum @& oA ?

(1) TER: 54% Hea™ a1 10,000
T 20,000 TYHAT TR TR

(7)) 70% F2aT= 391 10,000 TIATIET
T TR

(7)) FAITHEHR A= ST e Scq
29,500 TTH 3.

(7v) 3A=ET HEAT 10,000 d 14,999
SO S 3R,

(A) (3, (1) efor (4id)
(B) (1), (z27) 30 (4v)
(C) (1), () A1 (iv)
D) (1), (77 3 (4v)

11
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20. The following are the number of

cases filed under Sec. 498A of
Domestic Violence Act during the
month of December, 2013, 2014 and

2015 at three cities, namely Pune,

20. YA THRA Higioh

JAN - 00118/I—C

.~ ~

TR TS
(heTH 49837) 9 2013, 2014, 2015
1 FEfEd, O, TG MO S A
T TRAHEA e ST TR uT
e foeft ome e

Hyderabad and Jaipur : ad | gu T SR
Year | Pune | Hyderabad | Jaipur 2013 40 50 30
2013 | 40 50 30 2014 | 50 55 50
2014 | 50 55 50 2015 | 50 60 80
2015 | 50 60 80 o Hifedia®d JEreTiehl v faem

Which of the following statements

are true ?

(1) Maximum increase occurred in
Jaipur from 2014 to 2015.

(77 Minimum increase occurred in
Hyderabad from 2013 to 2014.

(i11) Average increase for the period
together is lowest in the case of
Hyderabad.

(7v) Minimum increase has occurred

in the case of Pune from 2014
to 2015.
(A) (1), (i) and (ii1)
(B)
(®)

(D)

(1), (1) and (1v)
(1), (7)) and (1v)
(1), (i) and (iv)

U 3Ted 7

() TTEA FTAT YR H&Iq
Haifeeh ofe ST 49 2014 1 2015
T STl

(7)) SRI A FhLom=A1 Tedd Taid
HUT 9@ TEUEE AT 2013 T 2014
T STl

(i7) T TSl TOE e o= s
TS T HTATHT TR0
T o Felld hHl 3Te.

(1v) TS T YehIuT=AT FEid Fard
HHl 9E g0 A% 2014 4 2015 STHH
R

(A) (1), (dn) o (4

(B) (i), (i) 30 (4v)

(C) (2, (i) 3V (iv)

D) (2), (i2) (0 (4v)

12



21.

22.

Pass percentage of a school for
six consecutive years starting
from 2003 to 2008 are 45, 56,
42, 61, 55 and 52. If the ratio of
students who appeared for the
exam in the years 2003 to 2008 are
2:3:4:3:2:3, then the pass
percentage of the school in six years
together is :

(A) 51.5%
(B) 47.5%
(C) 55%

(D) 42.5%

A survey conducted among 480
students of two colleges C; and C,
regarding the type of computers they
use, resulted in the following table,
with partial information. It is known
that the ratio of number of students
of C; and that of C5 is 9 : 7 :

College

Desktop|Laptop|Both |[None

Cq

15

Co

120 30

Total

195 70 | 40

How many students of college Cq
have at most one system ?

(A) 195
(B) 90
(C) 255
(D) 315

21.

22.

JAN - 00118/I—C

IMBATA 2003 7 2008 AT
HIAHde SO THRhaR!  3TIhH
45, 56, 42, 61, 55 0T 52 3TN 3TE.
2003 T 2008 31 1 AT THAAT SO
faenenta woo1 2:3:4:3:2: 3
1Y AT Tl auiE] Whiad S<vi=t

Lo =

= A o
ZFhIR[ Tehdl 3HA 7

ThT

(A) 51.5%
(B) 47.5%
(C) 55%

(D) 42.5%

Cy 3T Cy & < Heldaermeie
TR 480 foeneata 4 aTRa STEere
TITOTSh T WehTalTeId a7 Shiuard 37T,
T TG Medl Jeielt hret At
qeiel et gRitael 8. C 31T G,
1 Herforamerardel fommeat=s ymmor 9 : 7

AR

UEITEeTs | SWheld | oueid | Sl |[ehiuTdra
A&
c, | — N I T
C, | 120 | — |30 ] —
ThUT — 195 70 40

C, werferrmerande ferd foemeff S&ita

TR T YhREl G0 SR 2
(A) 195
(B) 90
(C) 255
(D) 315

13
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Direction (Q. Nos. 23 and 24) :

In the following table, the number
of students who passed in four
subjects, English, Hindi, Marathi
and History in divisions A, B and
C of standard X of a particular

school is given :

Division|English |Hindi | Marathi | History
A 29 30 38 25
B 34 32 36 30
C 26 34 31 29

23. What is the possible maximum

number of students in Division B,

who passed in all the four

subjects ?
(A) 34
(B) 30
(C) 36

(D) 26

JAN - 00118/I—C

G (T, o, 23 30T 24)

ThT IMe=AT I SBIai=al did

Theamee sust, fedl, 7aet onftr sfaer

71 ferme 3wl gietedn foenef= wen
T dFams foeft o) e

T | et |l | wd | s
A 29 | 30 | 38 25
B 34 | 32| 36 30
C 26 | 34 | 31 29

23. 91 TMexiicl B Teheiial TRe! fosaid 3ol

T foameat= T Siiq S fehdl
I Thd ?

(A) 34
(B) 30
(C) 36

(D) 26

14
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24. The maximum possible number of | 94, e Wi-q%:a THesd &t 9 7et =n
students who passed in both Hindi B fowEis ST Sere faEneatat
and Marathi in three divisions . N . -

Hedl SI&dld Slisd  [ehdl 31& NE T
combined is :
(A) 93
(A) 93
(B) 96
(B) 96
(C) 105 (C) 105
(D) 111 (D) 111

25. Identify the incorrect pair from the | 25. g-cﬁaﬁaﬁ <h e lesEn

following :
¢ (A) ttf = B2 HEA

(A) .ttf = font file

(B) .wav = 3iifesn (&) HEd
(B) .wav = audio file

C) jpg = Wiksw (fa3) wEa
(C) .jpg = graphic file (©) Jve (=) P&
(D) .exe = exclusive data file (D) .exe = TFFRITE <2 T

26. Find the correct pair from the | 26. LeISGIREa) ek SISl esell :
following : (A) 1 freerEz = 104
(A) 1 Kilobyte = 10%

(B) 1 #merEe = 108
(B) 1 Megabyte = 10°
(C) 1 meme = 1012
(C) 1 Gigabyte = 10'2
D) 1 X@mrEe = 101°
(D) 1 Terabyte = 1015 @)
15 [P.T.O.



27.

28.

In the context of internet what is

the full form of ftp ?

(A) formatted transfer process

(B) formal texting process

(C) file transmission procedure

(D) file transfer protocol

The principle that internet service
provider and government regulators
should treat all data on Internet
as of same importance and not
discriminate or charge differently
by user, content, website etc. is

called on :

(A) Digital equality

(B) Digital democracy

(C) Net priority

(D) Net neutrality

27.

28.
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ST HEHia ‘TSI (ftp) A HH

fOdR ®Y9 g ?
(A) HIHIE ITEE J9Y

(B) wiHd LM WEH

(C) ®EA ITFAMHIM ISR

(D) WEA TEEH Herhia

‘geHead gd Hifedien (€21) $ee Hal

qLERRRA o Rl MmN e
HEwd TIE F A ATk, SR, JeEEe

affg fers=an SR YguTd e 9 o

HTeATTed Y[eeh SAThIE T4 I qwaTEIe!
TSI IV A1 aTaRard 2
(A) EifSea saarfaet

o

(B) Sifsied 2

N

(aV
ESI

(C) = JErEt

(D) e Jferet
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29. Which of the following is the correct

30.

chronology of internet facilities ?

(A) Amazon, Google, Snapchat,

Facebook

(B) Google, Facebook, Amazon,

Snapchat

(C) Google, Amazon, Facebook,

Snapchat

(D) Amazon, Google, Facebook,

Snapchat

Identify the correct pair from the

following :

(A) Amazon — Sabir Bhatiya

(B) Google — Sergey Brin

(C) Twitter — Julian Assange

(D) YouTube — Jimmy Wales

29.

30.
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eI glawar M wTawd

HIOTAT ?

(A) TN, TTa, T,

(B) TTel, hudeh, THEH, HUue

(C) T[T, 3THAH, hudeh, TIde

(D) 3THAH, T, HHh, SHa=e

Ayl Gia el e ¢

(A) 3HFA — Hifer sqrfean

(B) T — & fod

(C) TR — FfAsH STEiS

oo

D) I — T5HI

CIes

17

[P.T.O.



31.

32.

33.

Which type of waste is classified as

hazardous ?

(A) Chemical
(B) Household
(C) Commercial
(D) Agricultural

.................................. is a major source

for fecal contamination in water.
(A) Domestic effluent

(B) Chemical effluent

(C) Steel plant effluent

(D) Pharma industries effluent

is mainly

responsible for depletion of ozone in

the stratosphere.

(A) Chlorofluorocarbon
(B) Chlorine

(C) Sulfur dioxide

(D) Carbon dioxide

31.

32.

33.
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JEITUh! RV HaXl BTN TR

Tifese LA T AR ?
(A) TEEHE
(B) =Rt

(C) MR HpaAd

(D) e

ot g A HRONA SR
(A) T IOR HrEaroh
(B) YMMMe HEUToH

(C) eEE TIR BT HRET=T
HISYTOT

(D) SNOETRIOT= HET STt

AN N Y N
JeicTdehl ShIvcl diHeS LEIRIEA]

A= AR oI HRUYd TR 7

(A) FARRISRIHTE

(B) FaRH

(C) ol SRS

(D) HEA SHESTFIES
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34. A major initiative undertaken

35.

36.

for water conservation namely

“Jalayukta Shivar” in :
(A) Maharashtra

(B) Orissa

(C) Bengal

(D) Rajasthan

Which of the following resources is
renewable ?

(A) Coal

(B) Petroleum

(C) Natural gas

(D) Forest

due

Socio-economical impact

construction of multipurpose dams
in river vallies is mainly concern

for :

(A) Forest loss
(B) Water quality
(C) Seismicity

(D) Project affected people

JAN - 00118/I—C

34. WU HYRU HICAMET “STALH

35.

36.

Em” & Jie S TS Suard
g ® ?

(A) HERTSE
(B) Sfrem
(C) smfet

(D) TSTEa™

EICTUhT IV TTET T el AT
qe ?

(A) HreEdn
(B) Ui
(C) =gt g

(D) ST
T WA SEva AU SRS
WA & 3Tk 9 J&Ad: hIvMeR
STorerdl ?

(A) SHTeT= 8™
(B) HroAr=it Tore

(C) 99
(D) fozenfya smeret AR
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37. Educationist and theirs special
educational contribution — choose

correct :

Louis Braille (1) Handicapped

(Y)

learners

(R) Helen Kellar (2) Deaf learners

(L) Thomos Edison (3) Dumb and

Deaf learners

(W) Lal Adwani (4) Blind learners

(A) Y—(2), R—(4), L—(1), W—(3)
(B) Y—(3), R—(2), L—(4), W—(1)
(C) Y—4), R—(3), L—(2), W—(1)
D) Y—(2), R—(1), L—(3), W—(4)

38. Regarding the Maharashtra
University Act, 1994 which one of
the following Articles suggested a
various rules of admission for the

senior college ?

(A) Article 65

(B) Article 66
(C) Article 67

(D) Article 68

JAN - 00118/I—C

37. Toevsy onfor == favm foreomdia
IMEH — Ik HABEl

(F) qeH oA

(1) 3T ST
et

(2) HUfERR
S E>p e Bitei i)

(3) HehafER T
HER
S pribitsic
(4) 3T-3TeTINYT-
Eeici)

(A) F—(2), T—(4), T—(1), 3—(3)

(V) T Her

(&) 9mg wfead

(9) o srsarvit

(B) 3—(3), 3—(2), ¥—(4), 3—(1)
(C) 3—(4), +—3), ¥—(2), 3—(1)
(D) 3—(2), T—(1), T—3), 3—(4)

38. wgRrse fommdie wmasr, 1994 ¥R

qAIRT BT FARTEI TS

TRl el Yo o i shefed
e ?

(A) hcH 65

(B) <hetH 66

(C) e 67

(D) =H 68
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39.

40.

Yoga Education Mission is related

to :

(A) Medical Education

(B) General Education

(C) Technical Education

(D) Professional Education

‘Abhijeet goes to singing class.’

Which type of education is this ?

(A) Formal education

(B) Informal education

(C) Non-formal education

(D) Technical education and non-

technical education

40.
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(B) gagM™=

(C) =M

(D) &g

‘erfufsta AT A g Sl ®

R THRE e e ?

(A) =i feemor

(B) wrEfies fareqor

(C) Arg=nier fereroy

(D) ifser fiero = srditen e
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41.

(Y)

(R)

(L)

(W)

42.

Match the List I with List IT and
select the correct answer from the
group given below :

List I List II
(Universities) (Locations)
Jagannath (1) Tirupati
Sanskrit
University
Rashtriya (2) Darbhanga
Sanskrit
University

Kameshwarshing (3) Puri
Sanskrit

University

Gurukul Kangari (4) Haridwar
Sanskrit

University

(A) Y—4), R—(3), L—(1), W—(2)
(B) Y—(2), R—(4), L—(3), W—(1)
(C) Y—(1), R—(2), L—(4), W—(3)
D) Y—3), R—(1), L—(2), W—(4)
What is the full form of ICSSR ?
(A)

Indian Council of Social Science
Research

(B)

Indian Council of Space Science
Research

(C) Indian Council of Scientific

Search and Research

(D) Indian Congress of Space and

Scientific Research

41.

(%)

(0

(<)

(<)

42.
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qe fectean =t 1 o =€) 11 et 3t<leh
W feren

Tt 1 RICUN |
(fmrrdte) (F2m)
Y GEhd (1) faeadt
fommdts

T T (2) T
fommdts

FHETRIET §&hd  (3) TU
fommdis

TEHRA BT 4) =GR

Teha foamdis

(A) I3—(4), +—(3), d—(1), 9—(2)
(B) 3—(2), +—4), ©—(3), 9—(1)
(C) 3—(1), 3—(2), T—(4), 9—(3)
D) I—(3), 1), d—2), 9—(4)

.G TH.TH.3TR.  (ICSSR) =1 v
fow® & ?

(A) sfeam wifaa e et a9 e

(B) sfeom =itqa i @ 9w fad

(C) Efeam =ifaw it wEfefren =
Jfg faud

(D) =feom wiM e Ty i wrffhs
e
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43.

44.

45.

Out of the following, which is the

correct statement ?

(A) Teaching is a dependent
process.
(B) Teaching is an independent

process.

(C) Product of teaching must be

learning.

(D) Learning is dependent upon

teaching.

is very important

in the process of learning.
(A) School atmosphere
(B) Infrastructure

(C) Previous knowledge
(D) Teacher’s personality

............................... results in effective

teaching.

(A) Classroom discipline

(B) Punctuality of students

(C) References used by teacher

(D) Clear communication

43.

44.

45.

JAN - 00118/I—C

TEcAtsh! v faem sRiek R ?
(A) T & ST ufshen o

(B) S1&AT9q & W Wishen oTe.

(C) JAHFIATE HfdAd ALTIT  3THA

e,

(D) 31T STEATIAER TG 3T

(A) IMeE SRR
(B) darnyd gfaen

(C) gai=H
(D) Toere =afeqaa

(A) ST
(B) formeafen aasiyon
(C) Torererm ool st

(D) GEI< AT
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46.

47.

48.

Effective teacher ......cccooeeeveeeee.... .

(A) allows students to ask questions

(B)

completes syllabus within time

()

provides a variety of learning

experiences

(D) explains everything to absent

students

1S not a

characteristic of good teaching aid.
(A) It should be very small

(B) It should be accurate in every

respect
(C) It should be easily portable
(D) It should be upto date

If your students have problems
related to learning your subject,

then the best solution is .............. .
(A) increasing homework

(B) supervised study

(C) diagnostic teaching

(D) frequent assessment

47.

48.

JAN - 00118/I—C

(A) ferneata wea foamuar=t g <
(B) Uegsd daxd U Rl

(C) afgeaqel sterm sqva fadr
(D) TR foeneatan wd e oA

WA (teaching aid) ¥ A&
(A) d T4 TRHE FEE

(B) 1 ¥d M TgHh 3T

(C) 1 WgsIuul Wenl foshromgd ==
foemoft Fa1 =

(D) d STEEEd 3TEe

SR g famneata, qEean fas@m=n

ST TSI STSHON ST R 399
m .................................. g.l. a_q.'
(A) TRUS Frefan

(B) wafard 1%
(C) TeHHes 3TeaT9H

(D) IRER TR
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49.

50.

51.

The phrase “...................

personal attention to each student

giving

individually is an

example of :

(A) succinctness
(B) circumlocution
(C) wordiness

(D) tautology

A well-written

attracts potential readers and
facilitates the cataloguing of a
research report in an electronic

database.
(A) title
(B) summary
(C) abstract
(D) synopsis

A proposal that may provisionally
serve as a starting point for further

research is known as a ................. .
(A) hypothesis

(B) theory

(C) model

(D) principle

50.

51.
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SRR foat s = " 21 ST
...................... 3 e

(A) Gfarean

(B) ufafea reft

(C) TSI

(D) GHFTfRA

et Y

AMFE A d A aUsX HINEA

STEATAT TUIEh T STER-TTI gAY
TIR HIEA ST BEa.

(A) TSR
(B) g&9
(C) IS

(D) TISERT

S YT AreqIcd] FEYE R
HINEAETE! 3R forg WU aaRar i
......................... 31@ w.
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53.

54.

is used to show

exact values.

(A) pie chart

(B) table

(C) bar diagram

(D) dot plot

Which of the following is the most
recent and dependable source of
information on a broad scientific
topic ?

(A) Research paper

(B) Bibliography

(C) Review article

(D) New textbook

is the best

indicator of the total importance of

a journal to researchers.
(A) Garfield quotient
(B) Impact factor

(C) Eigen factor

(D) grindex

53.

54.

JAN - 00118/I—C

(C) TfUse! 3Tl
(D) fag 3@

e fawga e fasam sredd
WeAeyen! Hifger=n STy 3 faaea
Hd IO SEA 2

(A) GINeE O

(B) EReIY-g=

(C) HHA™ES o

(D) 9 TRI ShiHeh q&ih

TEnEl fAaasifas™ TN esigre!
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Answer Question Nos. 55 to 60
based on either the English

passage or the Marathi passage:

The distinction that modern artists
and art critics make between the
arts, on the one hand, and crafts,
on the other, was foreign to classical
antiquity. Both arts and crafts were
regarded by the ancient Greeks as
“productions according to rule” and
both were classified as techne, which
can be translated as “organized
knowledge and procedure applied for
the purpose of producing a specific
preconceived result.” This concept
runs directly counter to the deeply
ingrained insight of modern
aesthetic thought that art cannot be
reduced to rule, cannot be produced
in accordance with pre-established
concepts or rules, and cannot be
evaluated using a set of rules

reducible to a formula.

with its
that the

The Greek concept,
attendant notion
appropriate criterion for judging

excellence in both the arts and the

JAN - 00118/I—C
U %. 55 @ 60 T U faeiean sararet
ATeTiia Ardd.  guSitater feman
W& SAraraie ggarst s

=3 |

TMefSi= faam THden T e

. UM T I Wiem qgF fE
AT s & qed WSSt
FTAAUAT AET 3R, ST A= YfHeRT

. ST GRWYU R ST
AT Softe 3T, e et T
A, FHAGGT SRE dw@ 0= 2d.
I g Mt Cfge’ ¥ oAE

2T, AT T <TIET EHI TR

JIITERET] e TSR]
el 3TR. 379N kR Te=l eAfgdn
TEUTS haes HEUN, g1 fohar Hiema

A YA O T WHISR qed B
grifsss gewiete O WiEA e fEE

FASE RO B S0 ®9 T
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crafts was the “perfection” of their
production, predominated until the
middle of the eighteenth century,
when the French aesthetician
Charles Batteux heralded the idea
that what distinguishes the arts
from the crafts and the sciences is
the arts’ production of beauty. This
idea lasted until the beginning of the
present century when some critics
argued that “beauty” was a highly
ambiguous term, far too broad and
indefinite for the purpose of defining
or evaluating art, while, on the other
hand, many artists expressly
repudiated “beauty” because of its
too narrow associations with an
outmoded view that art was
beautiful and therefore should not
be evaluated or analyzed, but
should merely be appreciated. Since
1900, a large number of definitions
of art have emerged, each of them
covering a sector of accepted creative
and critical practice but none of
them, apparently, are applicable to
the whole of what is accepted as art

by the art world.

JAN - 00118/I—C
A WA AU dled. S AN
HIETEER, ArIfSeh qsEeHt, F S

I 3R] Sedd Y9e dhed 3T,
doflel FHSEEhid HaR SR Sl
RECHAT HASE B0 ST e Fdr
T T YROMH 2Idwd, o & Sl
T A I B AR, U0 HEES
3Ya el T AEAL IR =B &
AMAES A9aE WA AT TR

greq grar srfor grgeifas  sfor
RN YRRHH AT T
39 THeg Trendl, TR T FROT B

‘o & IR T SISU HeM Sl

3T, TSRO Y=g SO S8’ ST

SHTET MG A el Bl YA
i = TS AT |iTes
TSt QRN S fHesd], & e SMfdeR
T SRS B, Ul ffdeh FHAdS

IATI SheETgR SUTIAISHT shI0l |
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55. According to the ancient Greeks, | gg st anftr s TSTEvAEE gHaT B
arts and crafts were :

N ~ LN =
HeTA[™ Hod S, ER" oo AHAA™
(A) the creations of divine power

AN AR SEedd T
(B) the creations produced as per

certain set rules (A) Y e, q@E I
(C) foreign concepts in arena of (B) T’ﬁé R, T -
culture

(C) Fh FauE SR

(D) hollow inventions of the artists

and the art critics

(D) 9qui faum I
56. Ancient Greeks considered the arts )
and crafts to be : 56. AfEHl § holes HIa= Th HIEH 3FA;
(A) analogous to each other SRR S I R e
(B) distinct forms of creation <IN
(C) the creations leading to human (A) Tﬁﬂc =, Y SR

contentment

(B) qafd sleR, 3wud =9

(D) the classical concepts meaning

production (C) “\TT’f faum ==

57. As per the modern aesthetic view :

(D) HqUi faem s’

(A) art is an organized knowledge

and procedure that leads to | 57. M T fewn AfeEl 20 WU

some results A) — o

(B) art cannot be governed by rules

(C) art can definitely be result- (B) wrS=n forpre 2o

oriented (C) THaT gEfua By

(D) art is the essence of pre-

(D) T&Yd deral ol
29 [P.T.O.
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58.

59.

60.

To judge the excellence in arts and
crafts, perfection was the primary

criterion for :

(A) the modern artists
(B) the modern art critics
(C) the ancient Greeks
(D) the art lovers

Charles Batteux believed that it is
‘arts’ production of beauty’ that

distinguishes :
(A) the arts and crafts from sciences
(B) the arts from sciences

(C) the arts from the crafts and

sciences
(D) the arts and sciences from crafts

The author of the passage tries to
suggest that :

(A) there is a lack of all-inclusive

definition of art

(B) beauty can be the basis of

evaluation of art

(C) art can be judged by the

opinions of its lovers

(D) the ancient concept of art is
more acceptable than the

modern one

58.

59.

60.
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M= Hd THISTEEHRIAA GaerEat

(A) TfYfer T SEEU TEavgeh

(B) 9<d 9ga B0l 3TEvdeh

(C) fafaereada fasgar dse o

SICERED

(D) FEEETIHE TS B0l SAavas

FHTGA Tehoerat wraar fafo g4
AeAt, a0 FHGX FIEI=l YTOMEl

IR |
(A) F9ui faum sleRr

(B) wl faum =%
(C) qatd =ReR, ITd o

(D) Y e, gAY I

1 ATl Afvres gude vt
IO ?

(A) HHAT : Tk HHISH HoA
(B) oifgqn smfor wmet S
(C) o9 Hed

(D) Her= qEA
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ROUGH WORK
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